The Proof… Heat Lost by One Object = Heat Gained by Another
Fill out the following table:

	Object
	Mass of object (g)
	Specific Heat of Object
	Final Temp

(Tf)
	Initial Temp. (Ti)
	Change in Temp. (T)

(Tf -Ti)
	Heat gained or lost (cal)

	Aluminum
	
	.22 cal/g°C
	
	
	
	

	Water
	
	1.00 cal/g°C
	
	
	
	

	
	
	
	
	
	
	



PROCEDURE:

1. Mass the aluminum slab

2. Record in table under mass of object for aluminum

3. Fill calorimeter with 250 mL water

4. Record mass of water in data table

5. Measure the temp and record it in the data table under Initial Temp. for water

6. Set up equipment as demonstrated

7. Fill beaker with 250 mL water

8. Place slab in water and bring to a boil

9. Record temperature where it says Initial Temp. for aluminum

10. Place slab in the calorimeter and cap

11. Wait 4 minutes and record temperature under Final Temperature for both objects

12. For both objects, subtract Tf from Ti and record it under T 

13. For both objects, multiply Mass of Object, Specific Heat of Object and T of Object.
Follow up questions: (answer on separate sheet of paper, use full sentences)

1. Was one of your answers for heat gained or lost a negative number?   What does that indicate is happening?

2. What is a more accurate statement:  Shut the door, you are letting all the cold in….or….Shut the door you are letting all the heat out?  Defend your answer in scientific terms.

3. Which of the three methods of heat transfer was the cause of the temperature change in this particular lab?  Defend your choice.

4. Which holds more heat: 50 grams of 100°C water or 100 grams of aluminum at 100°C  ?

5. Describe two procedural errors that could occur in this lab.  (no measuring errors allowed!)

6. What’s the difference between something being a good conductor of heat versus something having a high specific heat?
